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8 slices in "041001c/byte"

the highest peak value = 3640.67 / height unit = 3640.67
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8 slices in "041001d/byte"

the highest peak value = 2370 / height unit = 2370
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8 slices in "041001e/byte"

the highest peak value = 1171.67 / height unit = 1171.67
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8 slices in "041001f/byte"

the highest peak value = 1228 / height unit = 1228
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8 slices in "041001i/byte"

the highest peak value = 3054.33 / height unit = 3054.33
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8 slices in "041001j/byte"

the highest peak value = 2606 / height unit = 2606
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8 slices in "041001h/byte"

the highest peak value = 915.333 / height unit = 915.333
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8 slices in "041001g/byte"

the highest peak value = 1346.33 / height unit = 1346.33
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